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      hint: Do not expand the power
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Solve the following quadratic functions by completing the square:


[image: image75.wmf]0

15

2

3

0

8

5

2

2

=

-

-

=

-

-

w

w

z

z


_1256413279.unknown

_1256415012.unknown

_1256447379.unknown

_1256447601.unknown

_1256447783.unknown

_1268555489.unknown

_1268557773.unknown

_1256447692.unknown

_1256447782.unknown

_1256447495.unknown

_1256447589.unknown

_1256447443.unknown

_1256446864.unknown

_1256446989.unknown

_1256446851.unknown

_1256413823.unknown

_1256414834.unknown

_1256414988.unknown

_1256413923.unknown

_1256413977.unknown

_1256413907.unknown

_1256413590.unknown

_1256413627.unknown

_1256413553.unknown

_1256399250.unknown

_1256411626.unknown

_1256411736.unknown

_1256411762.unknown

_1256411673.unknown

_1256399436.unknown

_1256410617.unknown

_1256411213.unknown

_1256399293.unknown

_1256399181.unknown

_1256399209.unknown

_1256398829.unknown

_1256398987.unknown

_1256391033.unknown

_1256393640.unknown

_1256393791.unknown

_1256398763.unknown

_1256398641.unknown

_1256393736.unknown

_1256393366.unknown

_1256393433.unknown

_1256392287.unknown

_1256392869.unknown

_1256393096.unknown

_1256392787.unknown

_1256391332.unknown

_1256390922.unknown

_1256390957.unknown

_1256390997.unknown

_1256390800.unknown

_1256390818.unknown

_1256386036.unknown

